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Bl 1| ROZRGTEAEZMHE 230,
@ (x+5) =2 @ (x-8)f =16

@ 5(x-4)* =30 ® 3(x-5f =16

® (x+3) =12

©® A4x+1)-9=0

(1] ko AR EfmE 2 S,
@ (x+3) =3 @ (x-57=36

@ 2(x-7) =36 ® 5(x-1f =7

® (x+6)* =20

® 9(x+2)-25=0
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B2] koW ERREMHE &,

O x?-6x-1=0 @ x?>+8x-2=0 @ x2+9x+7=0
2] woZwEREEE RS,
DO x?-4x-2=0 @ x?+10x-2=0 @ x>+3x+1=0
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(1] %o —whmRais e S0,
D (x+1f =5 @ (x-7f =64 ® (x+2) =24

@ 3(x—-4) =48 ® 5(x-17=3 ©® 4(x+3) -49=0

2] ko R ERE R S,
DO x?>-8x-2=0 @ x%2+4x-1=0 @ x>+5x+2=0

@ x?-6x-3=0 ® x%>+12x+18=0 ® x?>+7x-2=0
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D x=-1++5 @ x=15, —1 ® x=-2+2/6
1
@ x=0,8 ©® x=1i§ ® % _?3

D x-4:32 @ x—28d5 @ x--5s¥17

2 2
@ x=3+23 B x=-6+32 ® X:_% J57
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